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def splitstr(str, pat) break if Ir
I ary = str.split(//) S,e=t

beg =0 result << ary[beg...s].join

result = ] beg=¢e

while beg < ary.length end
r = find_match(ary, pat, beg) i beg < ary.length
break if Ir result << ary[beg..-1].join
S,e=t end
if beg == && beg==¢ result

r = find_match(ary, pat, beg+1) end
end
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def splitstr(str, pat)
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def splitstr(str, pat) break if Ir
I = str.split( S,e=t
result << ary[beg...s].join
<ult =] > beg=¢e
while beg < ary.length end
r = find_match(ary, pat, beg) T beg < ary.length
break if Ir result << ary[beg..-1].join
S,e=r end
if beg == && beg==¢ result

r = find_match(ary, pat, beg+1) end
end



XU EDHWEHEYIRT

def splitstr(str, pat)

ary = str.split(//)
beg=0
result = []

= find_match

g < ary.length
d match(ary, pat, be

(ary, pat, b

aK if Ir
R

result << ary[beg...s].join
beg=¢
end
if beg < ary.length
result << ary[beg..-1].join
end
result

-

end
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def splitstr(str, pat) break if Ir
I ary = str.split(//) S,e=t
beg =0 result << ary[beg...s].join
result =[] beg=¢

end
if beg < ary.length
result << ary[beg..-1].join
k end
if beg ==s && beg == result
r = find_match(ary, pat, beg+1) end
end

e beg < ary.length
r = find_match(ary, pat, beg)
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def splitstr(str, pat)
I ary = str.split(//)
beg=0
result =[]
while beg < ary.length

r = find_match(ary, pat, beg)

break if Ir
s,e=r

==s&&beg==¢
= find_match(ary, pat, beg

ak if Ir
=r

result << ary[beg...s].join
beg=¢
end
if beg < ary.length
result << ary[beg..-1].join
end
result

end
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def splitstr(str, pat) break if Ir
I ary = str.split(//) S,e=t

beg =0 Fesult << ary[beg...s].joii"

result = ] beg =€

while beg < ary.length end
r = find_match(ary, pat, beg) I beg < ary.length
break if Ir result << ary[beg..-1].join
S,e=r end
if beg == && beg==¢ result

r = find_match(ary, pat, beg+1) end
end
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def splitstr(str, pat) break if Ir
I ary = str.split(//) S,e=t

beg =0 result << ary[beg...s].join

result = [] “beg =€

while beg < ary.length end
r = find_match(ary, pat, beg) T beg < ary.length
break if Ir result << ary[beg..-1].join
S,e=r end
if beg == && beg==¢ result

r = find_match(ary, pat, beg+1) end
end
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def splitstr(str, pat) break if Ir
I ary = str.split(//) S,e=t
beg =0 result << ary[beg...s].join
result =[] beg=¢e
while beg < ary.length end

r = find_match(ary, pat, beg) eg < ary.length >
break if Ir result << ary[beg..-1].joi
S,e=t
if beg ==s && beg == result

r = find_match(ary, pat, beg+1) end
end
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def splitstr(str, pat) break if Ir
I ary = str.split(//) S,e=t

beg =0 result << ary[beg...s].join

result =[] beg=¢

while beg < ary.length end
r = find_match(ary, pat, beg) T beg < ary.length
break if Ir result << ary[beg..-1].join
S,e=r end
if beg == && beg==¢ “result =

r = find_match(ary, pat, beg+1) end
end
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